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MEC-006 : PUBLIC ECONOMICS
Time : 3 hours Maximum Marks : 100
Note: Attempt questions from each section as per
instructions given.
SECTION A
Answer any two questions from this section in about
500 words each. 2x20=40

- 1." “A public good does not necessarily refer to a good
that is provided by the government.” Discuss.
Also state the different types of externalities.
Which type of externalities result in economic
inefficiency ? Why ?

2. State Arrow’s Impossibility Theorem. Also
examine the proof of the theorem, as given by
AK. Sen.

3. Explain the “problem of coordination” in policy
process  and reasons behind “coordination
failure”. Suggest policy interventions to cope with
the problem of coordination failure.

4. “Equity or fairness should be the essential
feature of any tax system.” In light of this
statement, explain the different approaches to
tax equity.
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SECTION B

Answer any five questions from this section in about
300 words each. 5x12=60

5. Why did the classical economists oppose public
debt ? State Ricardo — Pigou thesis regarding the
transfer of burden of public debt to future
generations.

6. Explain the meaning of debt management. Also
state the principles of debt management as
propounded by Philip E. Taylor.

7. What is fiscal federalism ? Why is fiscal
federalism efficient in provision of public
services ?

8. Discuss in brief the principle of benefit incidence
in division of functional responsibilities.

9. What do you mean by ‘natural monopoly’ ?
Discuss the utility pricing rules in natural
monopoly.

10. What are merit goods ? Also explain why certain
ventures are not undertaken by the private
sector.

11. Critically examine in brief the “Stages model” of
policy formulation.

12. Write short notes on any two of the following :
(a) Fiscal Crowding Out
(b)  Fiscal Competition
(¢) Quantitative Measure of Public Intervention
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